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I implemented the distributed application version VNC(TreeVNC) that can be load bal-
ancing by flowing from the top to the bottom of the tree data that parent has been
delivered VNC is an application that can share the screen via the network. Usual VNC is
designed that Load is concentrated to distributor. for example, when performing screen
sharing using VNC in lectures, load on the distributor would increase in proportion to the
increase of the client. To solve this problem, by connecting the client to the tree structure,
we have proposed a method will low from top to bottom data. Thus, it is possible to
create a service with scalability without lowering the quality of the user also increases.
As a result of using TreeVNC, it could be used without reducing the throughput suppress
the load on the server side can also increase the number of clients. In this paper, in
addition to the implementation of TreeVNC, was carried out of the multi-display support
and switching of presenter.
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00000000000 (0000000ooooooooooooooDooO)ooooOo
CountDownLatch OO OO0 O0O0OOcountDown 0000000000 OO0OODOOOO
O0000D00await 00000 cowntbown OO0 00000000 ODO00O0ODOODOODO
000000000000 DO00DO000b0000ddcountbwon 0000 OOODOO
00000 await 0000000000000 0O0O0O0O00O0O (O 3.8)0 MulticastQueue
OQuene 000000000 O0OD0ODOpwtO0ODOODOODOOOODOO quened OO
OO000000 put0000 CountDownLatch OO 00000000 OpollDDOOOODO
0000000000000 DO0000DO0D0O00OpolO00O0OD00OO awaitO O OO0
000000 put0 0000000000000 0O00O0O0O0O0O(DO 3.9)
0000000 pwt0000000O0ODDOOOOOOOOODO(D 3.10)
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MulticastQueue

put()

RootNode

0 3.9: MulticastQueue(D OO0 O DO0OODODOO)

MulticastQueue

RootNode READER

0 3.10: MulticastQueue(D0 0O 000000000 DOOODOOO)
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parent client "3 (7EX%
X X / FTHERW

Framebuffer

Child 2

e — e —
Child 1 Child 3

g 3i1ll: ggobbobodaooobbouoooobo

3.6.1 TimeOut

MultiCastQuene 0 O OO0 0O OO0O0O0O00ODOODOOOOOO0DOOODOO NodeO OO
00000000000 0000000000000000 RootNodeOODODOODOO
000000000000 0000000DO000000000D00 Memory Over Flow O [
O00000D00ODO0O000 31100000000 0Parent0 00000 FramebufferUp-
date 0 MulticastQueue 0 0 0 00O 0O 0O OO MulticastQueue 0 O O O O O CountDown-
LatchOOOODOODOChidOOODOOOOOOO CountDown OO OO Countd 0000
O000000000OParentdD ChildOODOOODOOOOO MulticastQueueO OO OO0
00 FramebufferUpdate D0 000000000 0O00OChdODOODOODOOODOOOO
O OMulticastQueue 0 0 O O O FramebufferUpdate 0 00000000000 OOOOO
00000000 Memory Over FlowOOOOOOOOOOODOODOOODOOODOOODO
000000000000 000D000 TimeOuwtdOOOOOODOODODOOTimeOut O
0000000000000 NodeOOODOO FramebufferUpdate J O O O O O TimeOut
0000000 Memory Over FlowO OO OQOOOOOO
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3.7 OOoOOO

RFBOOOOODOODOOOODOOOD 100000ZRLE(Zlib Run-Length Encoding)
OO0OO0OOZRLEO ZibOOOOOOOOOOoOoOOOoobobOOooboobobooboobo
ooboooboZibooooooooooooooooobooboooboboobooooo
O00000000D0ODODOO java.util.zip.deflater O java.util.zip.inflater 0 0 0 O O
ooo

3.7.1 java.util.zip.deflater OO0 0O 0O 0O [

Zib000o00o0ooo0oboob0oobooboooboobOoooboDoooDoooboooo
(0 3.12)00 00 O java.util.zip.deflater 0 000 0000000000000 (flush) O
gobooboooooooboooboobooobooooozibb0obOoooDOoOoO
O0000000000000000000000O0oOoOO0oO0 (O 3.13)0

ZRLE(gzip)
I I
DATA l DATA l DATA

ZRLET—% % #1OHh 5.3

DATA | DATA | DATA

dictDT—5 ZRITWBENTE S

0 3.12: ZRLE

3.7.2 ZRLEE

Root NodeO ZRLEO OO OOOOOODO uwnzipO0 OO OO0 zipO OO OO OO finish()
0000000000000000000000O0O00000O0oODO0o00O0 (booo
00000000000)(03.14) 000000000 ZRLEEDOOOOOODOOO0O00
OZRLEEODOOOODOODODOOODOODOODOO0ODOODOO0ODOODOOODOODOOn
0000 Root Node OOOODODOODOOOOOODODOdeflater,inflater 0 0000000
O000000000DO000D000D000O00Root NodeD NodeODOOODOODOODOO
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ZRLE(gzip)
DATA DATA

v

l DATA

ZRLET— 5 ZZRH 5% S

DATA

l DATA

dictD 7 —4% =R (TEZENTE AL

0 3.13: ZRLE2

00000 (NodeO O inflater 0 0)0 OO OZRLEEO NodeOODOOOODOOOOOO

gobboobouooooboo

ZRLE(gzip)

DATA

+ZRLEE

DATA

DATA

v

<P

DATA

v

DATA

0 3.14: ZRLEE

gboobbooboobboobooboo

DATA

BRUCEMULETY

v

DATA

BREHOSEBULTHHENH D

DATA
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3.73 0OD0OOOO0OO0OoOoOad

Node I Root Node OO O OOOORoot Node IPOODOOOOODOOOODODOOO
IPOO0O0OOOOODOOOO0OO0OO0O0O0ODODOOOO0O0O0O0O0ODODOOOO00000ODOO
O00ONodeOOODODODOOODOOODODO TreeVNCO Root NodeO D DOOOIPOOO
0000000000000 0D000b000D0O000oo00oooo0oooDoo0oooOon
O0D00D000000D00OTreeVNCO Root Node O OO OO OO D O Broadecast 0 O O
0000000000 0O0000oooog
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4.1 TightvNCUOODODUOUOODOOOOO

TightvNCOODOOUODOOUODOOoODOOooOoooooboooooobooooooo
O0O00D0O0OO00000O00b00OD TreeVNCOOOOODOODOODOOOODOOOO
gbbogbogbodgboooooboboobbobooobuoobboobood
OO000000o0b0oboooOn Versiond 1.3.1000 Version2.5.000000000
goddooogooboboobbbbbbbiboooooooooooooooooon
gboboooboobbboobboobooobbooobooobbooobobo
00000 TightvNCOODUOODODOODDO TreeVNCOOODOOODOOOOODOODO
gboboobobobooboboboboobobobobooobooooobob
gbogbobooobooboboooboobboobbooboobobuoobood
O000b0oo0o0o0ob0ob0obooobobDgdn Version2.5.000 Version2.7.20 00
gbodgbbodgbbubuoobooobooboboooboboobobboobood
O00000Mercuria merge U0 OO0 O00O000000O00O0O0O0OO0OOOOO

4.2 UIOUOUO

4.2.1 FramebufferUpdate [ [ [

RFBOOOOOODOOFramebufferUpdate I D OO0 O0DO00OO0O0O0OO00O0O0O0ODOODOO
godd
O FrameBufferUpdate DO 00 (O 4.1,0 4.2) 0000

O 4.1: FramebufferUpdate

ooog | O 0d
U8 message-type
U8 padding
U16 | number-of-rectangles
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0000 number-of-rectangles 0 0 0000000 0O0O0DO0ODOOOOOOOODOOO
0(042) 0000

0 4.2: FramebufferUpdate

oooo | O aoo
2 U16 X-position
2 U16 y-position
2 U16 width
2 U16 height
4 S32 | encoding-type

O0000 header OO ODOOODOOODOOODOOOODOOODODO x-positiond y-
positiond width height 0 4000000000 OOOOOOOOOO0OOOOO
header 00O DO OD0O0ODOODOOOOODOODOODODOO
gboobob ZRLEODOOOOOOOOOOOObOOobObOob400b00b0bDO0obDOobDO
0000000000000 zlibbDataOO OO OO (O 4.3)0

0 4.3: ZRLEO OO

oood O 00
4 U32 length
length | U8 array | zlibData

4.2.2 0O000O0OO0OOOOOOOO

000000 zibData0 00 0000000000000 DODODODOOG4*6400000
gbobooobuodgbboobbbodobbooboobboobooboboobobod
gbobogd2gdboggbooooobboobboobbuooobboobbood
gobbbuoooobbobodgo
0410000000000D000O000O0ODO 410000 FramebufferUpdate D O OO
gobbodoogn

vNCOOoOOoooobobooooooboboooooobooboooooooo
gbobbboooobbboooobbboooobbbuoooobbbooan
gbboogobogbbobuoobbooobbuoobobbodgbooobuoobood
gbbodbooobuoobobuoouobbbooboobbuoobbbbodobood
gobbbooobbbooodgbobobooooboboooobo
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1920 1280

880
1080

0 41: 0000000000 0O0O0OO UpdateRectangle

000000000 0OFramebufferUpdate0 0 000 O OO header 0 O O O Ox-position
gboobobobobooobouoobooboobUobobobooboooboobo
0000041 00000000000000000O0x-positiond 19200000000
goboboooobbbooob 12o00obobboooobboooobbbooon
O0o0oboobon
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4.2.3 0O00OOOOOOO

OoboboogoboooobobovNCOOOOobooboooobooooboo
gobboboogoobbbooooobo
gbooboobbob 420000

ServerZ10.4Hh510.3IctIh&EZ 3K
10.*

Nodes

5: newServer()

—_— —_—

NextVNCServer Root Node : VNCServer
port : 10002 ClassO port : 10001

10.3:5900 ¢ 10.4:5900

2: requestVNC()

1: changeVNCServer("10.3")

EEEYDEZBA
10.2

042 000000000

OO00OORoot NodeOOOODOOODOODOOOODO (L:changeVNCServer(”10.37)) 0 O
O0000O00bbOO Root NodeOUODDUODOOOOO IPOOOODODDOOODOODOODOO
0000 (2requestVNC()) DO DOOODDODODOODOOOOOODODOODOOOOOO Root
NodeOOOOOOOOOOOOOODODOOOODODO (3:acceptConnection())d Root Node
O00D0000000000000000000000000 (4:CloseConnection())d 0O O
0000000 NodeJODODOOODODOOOOOOODODODODODODOO (5mewServer())O

newServer() 0000000 Listingd.100000O00O0Root NodeOOODOODODOOO
0000000000000 000000b000b00000OclientList0 0000000
0ooooobooobobooobobooobooooboobo TCcpOobooobooog
ggodoooobbboooooooooooo

gboobbooboobboobooboo 26



@DDDDDDDDDDD(DD) 040 0OO0OOOOCOOO TreeVNCODOO

Listing 4.1: DOUOD0OUOO0OOO0ODOODOOOOOOOOOO

for (String client : clientList) {
Socket echoSocket = new Socket(client, 10001);
DataOutputStream os = new DataOutputStream(echoSocket.getOutputStream());
os.writeBytes("reconnection\n");
os.close();

D Ut s W N

4.3 Authentication

Root NodeODO DO ODOOODO VNCOODOODODOODODODOODODOODODOOOOOO
O00000000000000 Root NodeODODOODOODOODODODODOODODOODO
000000000000 Db0Db0ODbUOb0D0Ob00O0ODRoot NodeDOODOOOOOOO
gbobdboboboooboboboboboboboboboboboobobo
O000D0b0ob00ooboonoOoDbOs3g3.7d380000000n TreeVNCO 3.855
0000000000000 380000 TreeVNCOODODOOODOOOOD

O00b00o0o0oooooboboooobobo0ooD NedeDODOOoooooobooooog
goboobbooobboobbooboo3rooobbooobooobboog
O000b0o0o0oboobOobooobodNodeOODODODODOOOODOODOOOOD
O0o0oboobobobobobOobobOobONode DD OOboobooboobOooO
gobbobouogoobbbouooooo

0000000000000 00000000D (0 4490000000000

O 4.4: AuthType

O (00

0 | Invalid

2 | None

5 | RA2

18 | TLS

21 | MD5SO0OOOOO

MAC OS X SnowLeopard OO0 00000 VNCOOOOOOODOOODOO MACODO
gbogob3sboboobooboobobobobbooboobod

O00 MACOSX LionOOOOOODODOOOOOOOODOOMACOS X LionOOO
gboobobbobooboobooboobobboboobooboon

000000 MACOSXOODOOODOOOOOOO [30,31,32,2,35|000032000
gbboobobooobbooobboobobooobboooboobooobobo
0000000000 Root NodeODODOODODDODODOODOOODODOODOODOODODOODO
goboboooobbbooobobobooon
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4.4 OUOLOOUOOOOOOOOOO

Listingd.20 Broadcast 0 0 0000000000000 ODODOODOOOOODOO
0 Root Noded Broadcast 0000000000000 0O0OO (Listingd.2)0Java0 OO
Broadcast 0 0 0 OO 0O 0O 0O OO O java.net.DatagramPacket 0 O O 0O 0O O

Listing 4.2: Broadcast U D 0O ODOO0OOO0OOOOODO

public GetHostClient(String _str) {
str = _str;

}

public void sendData() {
buf = str.getBytes();
DatagramPacket sendPacket = new DatagramPacket(buf, str.length(), mAddr, PORT);
try
soc{ .send (sendPacket);
} catch (IOException e) {
e.printStack Trace();

0 N O Ut W N

_
N = O O

—
w

}

Listingd.20 if 0000 str 0000000 (recvPacket.getData()) 000000000
U0str 0000000000 O0str 000000000 0O0O0O0O0O0O0O0O0OO0O0O0O0
goboboodobobobooooboobIipO0dobbboooobbboooobbboon
0000o0ooIP0O0O0O0O0sr 000000000 0O0O0O0DOO0O0OOO0O0ODO0OOO0O0
000000000000 D00D00000D000DOBroadeast Packet OO OOOO
00000 IPODOOODOODOTCPOOOOOODOODOOODODOODOODO VNC Server
000000 (Listing4.3)0

Listing 4.3: Broadcast U0 OO DO OOOO

1| byte[] buf = new byte[BufSize];

2| byte[] resorve = new byte[BufSize];

3 try {

4 InetAddress mAddr = InetAddress.getByName(McastAddr);
5/ MulticastSocket soc = new MulticastSocket(Port);
[§

7|

8

DatagramPacket recvPacket = new DatagramPacket(buf, BufSize);
soc.joinGroup(mAddr);

while (IstopFlag) {

9 soc.receive(recvPacket);

10 address = getAddress(recvPacket.getSocket Address());

11 inputStream = new ByteArrayInputStream(recvPacket.getData());

12 inputStream.read(resorve);
13 if(str.equals(castString(resorve)))
14 replyBroadcast();

15 if(stopFlag) break;
16| } catch (IOException e) {
17 e.printStackTrace();

19| }

Listing4d.4 0 O Root Node DO O ODOODO VNCServer 00O O0OO00O0OODOODODO
O00000000textO0javal GUIDODOODOODOODOO JFrameOOOOOODO
gobbobuogooboo
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Listing44: DO0O0OOO0OOODOOOOOODOOO

Socket socket = server.accept();

is = new BufferedReader(new InputStreamReader(
socket.getInputStream()));

proxyAddr = is.readLine();

if(proxyAddr!=null)

text.checkBox(proxyAddr);

text.setButton();

text.visible();

0 N O Ut s W N
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000000000000 TreeVNCOOOODOOODODOODOOODOO

5.1 UIOOO

TreeVNCOUODOUODOOOOOOOODODODODODOOOOOODOODODODOO

5.1.1 0000000

gbobdoobobobobooboboboboboboooobobobobob
gboobobobbobogbdogbobobobbobuoobooboboobooabg

5.1.2 0000000

gbbogodbooobuoobboobuoobobuoobobodobbooboobbo
gbboogbogobuoobbooboobboboguobobooboboobood
gbbogoobodoboobboobuoobboobodobbobbooboobbod
gbboboogoboobboobboooboobboobbooboonoobood
gobbbooobobbooooobn

5.2 UUOUULOUOuboobooon

gbbgbuogbbuodgbboobobuoobboobbooboooboobboad
gbbogobobooobuoobbooboobbuoobobbodooboobobon
O00000000D0OD0DOMulticastQuene DO OO OOO0OO0O0OO0OODOODODOODO
gobbbooooboboooobobobod

5.3 UUOOOOODOOOOOO

TreeVNCOOOOODOODODO NodeOODODOODOODODOODOODDOODODOOO
000000000 0bO0b0boO00ob0o0ooOO00obD0bOb0OoDO0bbOODOn NodeO O
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gbbodgbbogbbobobbuobobbuoobboobbuogobooobood
gbbodgboobobuoobbuoobbodobobobbobooboobbobood
Uboooooooobd NedeDOOOOOooooboboobobooboboboo
gobbboodobbbooodobbbbooodobbbodoo
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6.1 U0O0OO

TreeVNCOODODOOOOODOODOODODOOOODOODODODOODOODOOO
gobbbooodgbbbooodabbbod
ooooooboboboooooSObOobOUooobUobobooooooDoobDOoDbDOobDO
gbgoboboobodeldbOO

0 61: 0000000 VMWareO OO QOO QOO

0o [ 0o
CPU Intel(R) Xeon(R) CPU X5650@2.67GHz
ogoogo 2
ogoooo 4
ceunooonono 12MB
Memory 8GB
0OS CentOS 5.8
HyperVisor VMWare ESXi

6.1.1 CUI Version [

TreeVNC O GUI(Graphical User Interface) 0 00 0000000000000 O0OO
00000 CUI(Character User Interface) 00 0 0000000000000 OOOO
gd
O0000OTreeVNCOD GUIODDODODOODOOODODODOOOCUIDODODOODODO
gogouooboobbbuobooooooooooo
O Listing6.1 0 TreeVNC O Main 0 00000000000 ODOODOOO JApplet OO
Guloboooooboooboooboobooboobo cvlbgooooooooooo
gdd
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OCculobDoooooDg JApplet OO0 DDOOO0OODOOODODODOOOODODODOO
Listing6.20 000 Viewer UO D OODOODOOOOOOODO CUIO GUIDOOOOOO
guooooooobon

O000000D0000CUlO GUIO OO Interface(Listing6.3) 0 0 0 0 00 O Interface O
ggooooooooon

Listing 6.1: TreeVNC O MainClass

1| public class Viewer extends JApplet implements Runnable, WindowListener
2
3 final ConnectionView connectionView = new ConnectionView(Viewer.this,
4 connectionPresenter, hasJsch);
5}

Listing 6.2: Viewer U 00O 0O O
1| public SwingViewerWindowFactory(boolean isSeparateFrame, boolean isApplet, Viewer viewer)
4 {
3
a )

Listing 6.3: Viewerlmpl

1| public interface Viewerlmpl
2
3 public boolean getCuiVersion();
4 public MyRfbProto getRfb();
5 public void closeApp();
6 public void run();
1}

6.1.2 Capistrano

O0000D00D480000000 CUIOO TreeVNCODOODODODOODOODOO
gboogobboobbuoobobobobuoobbobobobuoobbooboobbod
OO0000D0Capistrano0 0000000000 0ODO0OOOODOOOODOODOO
Capistrano0 0 0000000000 DOOODOOODLOOOOOOODOOODOODOOO
O0O000ORubyOOOooooooonog
O Capistrano 0000000000 0ODOOOOODO Listing6.40 000
O0oo0b0Od Listinge.bOD0OOOO0OOO0DOODOOODOO

Listing 6.4: cap.rb

set :user, "mass" 000 O0O0O0O//
role :pall, "133.13.62.1" 00000000000 OOOOOOO//
task :1s do // O task

run "ls,-la" // 0000000
end

N O Ut W
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Listing 6.5: capistrano [J 0 [

1’! % cap —f cap.rb Is

6.2 O0OOOOOOOO

TreeVNCOOOOOOOOODODOOOODOOOOOODOOOODOOODOOOODOOO
gbbogboobuogbbogbooobogbbuoobbodboooobobbodoon
gobbboooobbbuooobobbbooooboo

6.2.1 0OODOOOO

RFBOOODOOODOOODODOOODOOODOODOODODbOODbOODbOoODbOODO
goboboodon

gbe2000000000000ODOOO0ODOO
0000 11(CheckDelay) 00 0000000000000 OODOOOO

O 6.2 RtbOODODOODOODOOOOODOODOODO

oood 0 0o
0 FrameBufferUpdate ooooood
1 SetColourMapEntries | 00O 000000 OO Colour Map O O O
2 Bell ogoooon
11 CheckDelay 00000000 DelayOb OO

Listing6.60 Listing6.70 0 00 0000O0O0OOOOODOOOO
Root Node O System.currentTimeMillis() DO OO0O0O00O00OONoded 0000 OSys-
tem.current TimeMillis() D0 000 0000000COO0OOClong0DOOOODOOOOO
O0000OONodeODOOOODODODOOODOODOODOOOOOOOODODODODODDORoot
NodeOOODOOOODOODODOODOOODODOODO System.currentTimeMillis() D000 OO
0000 DelayUOOOOOOOOOOOOOOOOOMOOOOOOOO 100000

Listing 6.6: DO ODOO0OOO0OO

1| BufferedReader is = new BufferedReader(new InputStreamReader(echoSocket.getInputStream()))

2 DatabutputStream os = new DataOutputStream(echoSocket.getOutputStream());
3| os.writeBytes("checkdelay\n");
4 os.writeBytes(String.valueOf(buf.getLong(16))+"\n");

Listing 6.7: D00 O0Q0Qoooog
1| Long delay = System.currentTimeMillis() —Long.parseLong(is.readLine());
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6.2.2 0OUOOOOO

2000000000000Nede0 800000060000
Root Node DO ODODOODODOOODO 4000000Root NodeD DO UODOO NodeO O
gobboooobbbuooobobbod
ge3ddbbbu2bbbuoooobbbuoooobboooan

ge63:0buogoobon

IEEREEE
2 [ 32000
4 244000
6 |446000

goooooboovMOobooooooboooboobobooboooboooo
oobooooboboboooStoobooooooboboooooooobobobn
oSOOU0ODO0OODn 25NodeD 00O OODODOODOOOSOOOODOODOODOIAODO0O
gobbbooodgbbbooaobn

0610000000000000000000CO0XO00000OO0ODOOOYOOOO (O
00)000oooo
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14 I I I I I
2step [
12 dstep [ 1 |
6step [
10 .
8 _
6 ]
4 a
2
0 l 1 1
p— — V) (98] B
1 ] (e} S ]
—_ (e} (] (e) [e)
S S & N &
] o S o
(e} (e (e} (e}

0 6.1: OO (step)DO00OD0OOOOOO
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6.3 UUUoognn

0000 TmeOwt OO OOOOOOOOODOOOOOODOODOODO
O000000000000000000000000000O000000O0OO000 (List-
ing6.3)JOOODODO NodeDODDOODODOOOOOODODODODODOOOOOOOOOOOOO
O00000D0000OONodeOUDODOOODODO Listinge 90D OODOOODOODO Root
NodeOOODOOODOOOOOODOODOOODOOODO checkCounter 1O OO OOONO
gobbboooobbboooobobbooodon

Listing 6.8: 000000000 DOO (Root NodeO )

ByteBuffer serialNum = ByteBuffer.allocate(8);
serialNum.putLong(counter++);
serialNum.flip();

bufs.addFirst(serialNum);
multicastqueue.put(bufs);

T W N~

Listing 6.9: 00000000000 (NodeO)

private void getLost(Reader reader)

{

try
{
long num = reader.readInt64();
if(num != ++checkCounter) {
System.out.println("LostData: "+ (num — checkCounter));
checkCounter = num;

0N O Ut W

—
o _©

} catch (TransportException e) {
e.printStackTrace();

=
N =

—
w

}

OO0D00Db00boe2000000000000DO0O0ODO0ODO0O TimeOut Thread O
OO000OD0ONodeODOODOOOODODOODOOOODOODODOOOODODOODOODO
gooo
OO00OoodbelO0OO NedeOOODODODODODOOOODODODODODODOOODODOODO
gobbobuooooboooboogo
0000000000000 0000000000 Root NodeODODOODOODOODOODO
000 0 Root Node D MemoryOverFlow D OO OO OOO0DO00O0O0OODOOOOODOOO
(1920*1080) O O O MemoryOverFlow O D OO0 00000000 0ORetinad 000000
O0000bO0bO0obO0obOoboOoboobooobOonMemoryOverFlowODOODOGOOOO
O00TimeOut0o0ooooooooboooono

6.4 O0OOOOO

OO0o000obO0obOO0oDOOooO0oobOobOobOobOobOooobocpobOobDODOnOO
O000o0oboO00obOo0obbodUONodeOODOOOODOoobOOoobOOOOO
gbbodbboobboooboooooboobbuooogobuoebboobbOon
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